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X)=-4x-8 &
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Solving using fhe
Quadratic Formuld:

x* —4x+4=0

¢o¢o¢ooooooooooo000000000000000000000000000000....””.‘
990464060000
49606440 ¢

A )
e8¢ \manad
33438 ©FmetoDsa\Wx*““

*e

““"’

19290453229 .0

* 06000 PO L o4
”’00000000::::::::::00000000000"'

~d3 NIX ~ 50

’
eett?
seeedilitentls

S &

XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
XXXXXXXXXXXXXXXXXXXXXXXXXXX Q992X IIIILSS6S

1 223551

XXXXXXXXXXXXXXXXXXXXXXXX PSP IXIXIIIILIILA

> &
> 2

> & 4
%

v %
e 9
PODOOOHOONA

%
@ % o @

v
¥



0000000000000 0000000000000000000000000000000000000000000000000009
00000000000000000000000000000000000000000000000000000000000000:::

L 6.6.4
L ood
L 664
L .64
1 6.6.4
L 6.6.4
L ood

1 1 1 1 1 1 1 1 1 [ 1 1 [ 1 1 [ 1 1 (N (D 1 (N N Y Y~ 223
Simplify:
. *00

0. 664

*00

L ood

ool

L oo
Oemmem——

0006006006000 0000000000000000000 R0t ddddddddddddddddddidddeddddeddedddddddddddddeddd

P4 © Free to Discover (Amanda Nix) - 2017 :::
* 000000000000 0000000000000 000000000000000000000000000090
0::::::::::0:0000000000000000000000000000000000:000:::00000:000::




Answer:
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The results of a study conducted with
200 children are organized below. Defermine
the relative frequency of children who were

girls and oreferred the playground.

Playground

Swimming Pool

Total

Girls
54
46
100

Boys Total
21 75
A 125
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Find the slope of each line. 333
Identify the steeper slope: B
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Which value is a member of the &
solution set for the inequality? B

-9. -5, -1, o 3
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Determine the y-intercept
of the line that passes through g
(4,-2) and (8, - ). 333
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Determine the vertex of the 3
quadratic function: 3
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